

Positive solution of nonlinear two-order three-point boundary value problem for difference equation with change of sign

Chunli Wang^{1, a}, Chuanzhi Bai^{2,b} and Xiaodong Cai^{3,c} ¹Institute of Information Technology of Guilin University of Electronic Technology, Guilin,Guangxi 541004,China ²Department of Mathematics, Huaiyin Teachers college, Huaian,Jiangsu 223300,China ³College of Information and Communication, Guilin University of Electronic Technology, Guilin,Guangxi 541004,China ^awangchunliwcl821222@sina.com, ^bczbai8@sohu.com, ^ccaixiaodong@guet.edu.cn

Keywords: Boundary Value Problem, Positive Solution, Difference Equation, Fixed Point, Coefficient That Changes Sign.

Abstract. In this paper we investigate the existence of positive solution of the following discrete two-order three-point boundary value problem.

$$\Delta^{2} y_{t-1} + \lambda a(t) f(y_{t}) = 0, t \in [1, n],$$

$$y_{0} = 0, by_{p} = y_{n+1},$$

where λ is a positive parameter, $n \in [2, +\infty)$, $p \in [2, n], 0 < b < 1, bp \in [1, p-1]$ and $f \in C(R^+, R^+)$. We will use the Krasnoselskii's fixed-point theorem and obtain the existence of positive solution of the boundary value problem in a cone, here a(t) is allowed to change sign on [1, n]. An example is given to demonstrate the applications of the theorems obtained.

Introduction

In this paper, we will consider the existence of positive solution for the nonlinear discrete three-point boundary value problem

$$\Delta^2 y_{t-1} + \lambda a(t) f(y_t) = 0, \ t \in [1, n],$$
(1)

$$y_0 = 0, by_p = y_{n+1}, (2)$$

where λ is a positive parameter, $n \in [2, +\infty)$, $p \in [2, n]$, 0 < b < 1, $bp \in [1, p-1]$ and

 $f \in C(R^+, R^+)$. Recently, some authors considered the existence and uniqueness of positive solutions of discrete boundary value problems (See[1,8,10,11]) and obtained some existence results. In [12], G.Zhang studied the existence and nonexistence of the following discrete three-point boundary value problem

$$\Delta^2 x_{k-1} + f(x_t) = 0, \ k = 1, 2, ..., n.$$
(3)

We want to point out that our problem is different from [12]. Moreover, to the author's knowledge, no one has studied the existence of positive solution for problem (1), (2) using the assumptions that a(t) is allowed to change sign on [1, n].

Hence, we will establish some criteria for the existence of at least one positive solution of BVP(1), (2). In addition, the following Krasnoselskii's fixed-point theorem is the key tool in our approach.

Theorem 1.1.(See[7, 9]) Let E be Banach space and $K \subset E$ be a cone in E. Assume Ω_1 and Ω_2 are open subsets of E with $0 \in \Omega_1 \subset \overline{\Omega}_1 \subset \Omega_2$, and let $A: K \cap (\overline{\Omega}_2 \setminus \Omega_1) \to K$ be a completely continuous operator. In addition, suppose either $||Au|| \leq ||u||$, for $u \in K \cap \partial \Omega_1$ and $||Au|| \geq ||u||$, for $u \in K \cap \partial \Omega_2$ or $||Au|| \geq ||u||$,



for $u \in K \cap \partial \Omega_1$, and $||Au|| \le ||u||$, for $u \in K \cap \partial \Omega_2$ holds. Then A has a fixed point in $K \cap (\overline{\Omega}_2 \setminus \Omega_1)$.

In this paper, a positive solution y^* of the BVP(1), (2) will mean a solution y^* of the BVP(1), (2) satisfying $y_t^* > 0, 0 < t < n+1$. Moreover, we shall use the following assumptions. (H₁) $f \in C(R^+, R^+)$ is continuous and nondecreasing.

 $(H_2) a: [1,n] \rightarrow (-\infty, +\infty)$ is continuous and such that $a(t) \ge 0, t \in [1, p]; a(t) \le 0$,

 $t \in [p, n]$. Moreover, a(t) doesn't vanish identically on any subinterval of [1, n]. (H₃) There exist nonnegative constants in the extended reals, f_0 , f_∞ , such that

$$f_0 = \lim_{u \to 0^+} \frac{f(u)}{u}, f_{\infty} = \lim_{u \to +\infty} \frac{f(u)}{u}$$

(H₄) For all $t \in [0, n-p]$, there exists a constant $\tau \in (bp, p)$ such that the function

$$A(t) = a^{+}(p - \delta t) - \frac{1}{\Lambda}a^{-}(p+t) \ge 0$$
, where

$$a^{+}(t) = \max\{a(t), 0\}, a^{-}(t) = -\min\{a(t), 0\}, \delta = \frac{p-\tau}{n-p}, and \Lambda = \frac{b^2 p}{n}.$$

Next, for the sake of convenience, set

(4

$$\alpha(t) = \begin{cases} \frac{t}{p}, & 0 \le t \le p, \\ \frac{n+1-bp+(b-1)t}{n+1-p}, & p < t \le n+1, \end{cases} \quad k(t,s) = \begin{cases} k_1(t,s), & 0 \le t \le p, \\ k_2(t,s), & p < t \le n+1, \end{cases} \text{ and } \\ k_1(t,s) = \begin{cases} k_{11}(t,s) = \frac{(b-1)t+(n+1-bp)}{n+1-bp} s, & 0 \le s < t \le p \le n+1, \\ k_{12}(t,s) = \frac{(b-1)s+(n+1-bp)}{n+1-bp} t, & 0 \le t \le s < p \le n+1, \\ k_{13}(t,s) = \frac{(n+1-p)}{n+1-bp} t, & 0 \le t \le p \le s \le n+1, \end{cases} \\ k_2(t,s) \begin{cases} k_{21}(t,s) = \frac{(b-1)t+(n+1-bp)}{n+1-bp} s, & 0 \le s < p \le t \le n+1, \\ k_{22}(t,s) = \frac{bp(t-s)+(n+1-t)}{n+1-bp} s, & 0 \le p \le s < t \le n+1, \\ k_{23}(t,s) = \frac{(n+1-s)}{n+1-bp} t, & 0 \le p \le s < t \le n+1. \end{cases} \end{cases}$$

It is easy to know that $k(t,s) \ge 0$, $(t,s) \in [0, n+1] \times [0, n+1]$. Moreover, we state and prove an inequality for k(t,s) (see Lemma2.4 in Section 2). In addition, set

$$\Lambda_1 = \mu \max_{t \in [0, n+1]} \sum_{s=bp}^{\tau} k(t, s) a^+(s), \ \Lambda_2 = \max_{t \in [0, n+1]} \sum_{s=1}^{p} k(t, s) a^+(s), \ \text{where} \ \ \mu = \min\{b, 1 - \frac{\tau}{p}\}.$$

The paper is organized as follows. In next section, we present some notations and preliminaries. The main results, existence of positive solution of BVP (1), (2) is given in Section 3. In section 4, we will give an example to illustrate our main results.

Preliminaries and Lemmas

Throughout this paper, we always use the following notations and signs, $Z = \{0, \pm 1, \pm 2, ...\}; N = \{0, 1, 2, ...\}; [m, n] = \{m, m+1, m+2, ...\} \subset Z; \forall x \in R, [x]$ is the integer value



(4)

function; $\Delta y_t = y_{t+1} - y_t$, $\Delta^n y_t = \Delta(\Delta^{n-1}y_t)$, $n \ge 2, t \in N$. In order to discuss problem (1), (2), the preliminary lemmas are in this section. Now, let C[0, n+1] be the Banach space with norm $||y|| = \sup |y_t|$. Denote

$$C_0^+[0, n+1] = \{ y_t \in C[0, n+1] : \min_{t \in [0, n+1]} y_t \ge 0 \text{ and } y_0 = 0, y_{n+1} = by_p \},\$$

$$P = \{ y_t \in C_0^+[0, n+1] : y_t \text{ is concave on } [0, p], \text{ and convex on } [p, n+1] \}.$$

It is obvious that P is a cone in C[0, n+1].

Lemma 2.1. Let $y_t \in P$, then $y_t \ge \alpha(t)y_p$, $t \in [0, p]$, and $y_t \le \alpha(t)y_p$, $t \in [p, n+1]$.

Lemma 2.2. Let $y_t \in P$, then $y_t \ge \mu || y ||, t \in [bp, \tau]$.

Lemma 2.3. (See[12]) Let $bp \neq n+1$. Then for $h_t \in C[1, n]$, the problem

 $\Delta^2 y_{t-1} + h_t = 0, \ t \in [1, n], \ y_0 = 0, \ by_p = y_{n+1}, \ has a unique solution$

$$y_t = \frac{t}{n+1-bp} \left(\sum_{i=0}^n \sum_{j=0}^i h_j - b \sum_{i=0}^{p-1} \sum_{j=0}^i h_j\right) - \sum_{i=0}^{t-1} \sum_{j=0}^i h_j, t \in [0, n+1], \text{ this is } y_t = \sum_{s=1}^n k(t, s)h_s.$$

Lemma 2.4. For all $s_1 \in [\tau, p], s_2 \in [p, n]$, then

$$k(t, s_1) \ge \Lambda k(t, s_2), t \in [0, n+1].$$

Lemma 2.5. Let conditions $(H_1), (H_2)$ and (H_4) hold. Then, for all $q \in [0, +\infty)$,

$$\sum_{s=\tau}^{p} k(t,s)a^{+}(s)f(q\alpha(s)) \geq \sum_{s=p}^{n} k(t,s)a^{-}(s)f(q\alpha(s)).$$

Proof. By the definition of $\alpha(t)$, for each $r \in [0, n-p]$, it is easy to get

$$\alpha(p - \frac{p - \tau}{n - p}r) = 1 - \frac{r}{n - p} \cdot (1 - \frac{\tau}{p}), \text{ and } \alpha(p + r) = \frac{n - p - r}{n - p}(1 - b). \text{ Thus, in view of}$$

 $\tau \in (bp, p)$ and f is nondecreasing, for $r \in [0, n-p]$, and $\delta = \frac{p-\tau}{n-p}$, we have

$$f(1-\frac{r}{n-p}(1-\frac{\tau}{p})) \ge f(1-\frac{r}{n-p}(1-b))$$
. Set $s = p - \delta r, r \in [0, n-p]$, for all $q \in [0, \infty)$

, by view of Lemma 2.4 and condition (H_4) , we obtain

$$\sum_{s=\tau}^{p} k(t,s)a^{+}(t)f(q\alpha(s)) = \sum_{r=0}^{n-p} k(t,p-\delta r)a^{+}(p-\delta r)f(q\alpha(p-\delta r))$$

$$= \sum_{r=1}^{n-p} k(t,p-\delta r)a^{+}(p-\delta r)f(q(1-\frac{r}{n-p}(1-\frac{\tau}{p})))$$

$$\geq \Lambda \sum_{r=1}^{n-p} k(t,p+r)a^{+}(p-\delta r)f(q(1-\frac{r}{n-p}(1-\frac{\tau}{p})))$$

$$\geq \sum_{r=1}^{n-p} k(t,p+r)a^{-}(p+r)f(q(1-\frac{r}{n-p}(1-b))).$$

Again, setting s = p + r, $r \in [0, n - p]$, for $q \in [0, \infty)$, we get

$$\sum_{s=p}^{n} k(t,s)a^{-}(s)f(q\alpha(s)) = \sum_{r=1}^{n-p} k(t,p+r)a^{-}(p+r)f(q(1-\frac{r}{n-p}(1-b))).$$

The proof is completed.

Now we define an operator $T: P \rightarrow P$ by

$$(Ty)_{t} = \lambda \sum_{s=1}^{n} k(t,s)a(s)f(y_{s}), (t,s) \in [0, n+1] \times [1, n].$$
(5)



Lemma 2.6. Assume that conditions $(H_1), (H_2)$ and (H_4) are satisfied. Then

 $T: P \rightarrow P$ is completely continuous.

Proof. At first, we show that $T: P \rightarrow P$. For $y \in P$, by Lemma 2.1, Lemma 2.5, and *f* is nondecreasing, we have

$$\sum_{s=\tau}^{n} k(t,s)a(s)f(y_s) = \sum_{s=\tau}^{p} k(t,s)a^+(s)f(y_s) - \sum_{s=p}^{n} k(t,s)a^-(s)f(y_s)$$

$$\geq \sum_{s=\tau}^{p} k(t,s)a^+(s)f(\alpha(s)y_p) - \sum_{s=p}^{n} k(t,s)a^-(s)f(\alpha(s)y_p) \ge 0,$$

which implies

$$(Ty)_{t} = \lambda \sum_{s=1}^{n} k(t,s)a(s)f(y_{s}) = \lambda \sum_{s=1}^{n} k(t,s)a^{+}(s)f(y_{s}) + \lambda \sum_{s=\tau}^{n} k(t,s)a(s)f(y_{s})$$
$$\geq \lambda \sum_{s=1}^{\tau} k(t,s)a^{+}(s)f(y_{s}) \ge 0,$$

again $(Ty)_0 = 0, (Ty)_{n+1} = b(Ty)_p$, it follows That $T: P \to C_0^+[0, n+1]$. On the other hand,

 $\Delta^{2}(Ty)_{t} = -\lambda a^{+}(s)f(y_{s}) \leq 0, s \in [0, p], \ \Delta^{2}(Ty)_{t} = \lambda a^{-}(s)f(y_{s}) \geq 0, s \in [p, n+1].$

Thus, $T: P \rightarrow P$. Next, it is easy to prove that $T: P \rightarrow P$ is completely continuous by the Arzela-Ascoli theorem. The proof is completed.

Lemma 2.7. Assume that conditions (H_1) , (H_2) and (H_4) are satisfied. If $y^* \in P$ is a fixed point of T and $||y^*|| \ge 0$, then y^* is a positive solution of the BVP (1), (2).

Proof. At first, we claim that $y_p^* > 0$. Otherwise, $y_p^* = 0$, which implies $y_{n+1}^* = by_p^* = 0$. Since y_p^* is nonnegative convex function on [p, n+1], we have $y_t^* \equiv 0, t \in [p, n+1]$, it implies $\Delta y_p^* = y_{p+1}^* - y_p^* = 0$. Again, since $y^* = Ty^*$ and $\Delta^2 y_t^* = -\lambda a^*(s) f(y_s) \le 0$, $s \in [0, p]$, then $\Delta y_t^* \ge \Delta y_p^* = 0, t \in [0, p-1]$. Thus, we get $y_t^* \le y_p^* = 0, t \in [0, p]$. Since

 y_p^* is nonnegative function, hence $y_t^* \equiv 0, t \in [0, p]$, which yields contradiction with $||y_p^*|| \ge 0$.

Next, in view of Lemma 2.1, for $y_t^* \in P$, we have

$$y_t^* \ge \frac{t}{p} y_p^* > 0, t \in (0, p].$$
 (6)

Notice that a(t) does not vanish identically on any subinterval of $t \in [1, p]$, by the proof of Lemma 2.6 and as shown in Eq.6, for any $t \in (0, n+1)$, we have

$$y_{t}^{*} = (Ty^{*})_{t} = \lambda \sum_{s=1}^{n} k(t,s)a(s)f(y_{s}^{*}) = \lambda \sum_{s=1}^{\tau} k(t,s)a^{+}(s)f(y_{s}^{*}) + \lambda \sum_{s=\tau}^{n} k(t,s)a(s)f(y_{s}^{*})$$
$$\geq \lambda \sum_{s=1}^{\tau} k(t,s)a^{+}(s)f(y_{s}^{*}) > 0.$$

Thus, we assert that y is a positive solution of the BVP (1), (2).

Existence of Solution

Theorem 3.1. Assume that conditions $(H_1) \sim (H_4)$ are satisfied, $\Lambda_2 f_0 < \Lambda_1 f_{\infty}$. Then for all λ satisfying



(7)

(9)

$$\frac{1}{\Lambda_1 f_{\infty}} < \lambda < \frac{1}{\Lambda_2 f_0},$$

there exists at least one positive solution of the BVP(1), (2), which belongs to P. Moreover, in the case where *f* is superlinear, then as shown in Eq.7 becomes $0 < \lambda < \infty$.

Proof. Let $\varepsilon > 0$ such that $0 < \lambda \le 1/\Lambda_2(f_0 + \varepsilon)$. Since $f_0 = \lim_{u \to 0^+} (f(u)/u)$, there exists $\rho_* > 0$ such that

$$f(u) \le (f_0 + \varepsilon)u, \text{ for } u \in [0, \rho_*].$$
(8)

Let $\Omega_{\rho_*} = \{ y \in P : || y || < \rho_* \}$. For $y \in \partial \Omega_{\rho_*} \subset P$, as shown in Eq.5.,8., we have

$$(Ty)_{t} = \lambda \sum_{s=1}^{n} k(t,s)a(s)f(y_{s}) = \lambda \sum_{s=1}^{p} k(t,s)a^{+}(s)f(y_{s}) - \lambda \sum_{s=p}^{n} k(t,s)a^{-}(s)f(y_{s})$$
$$\leq \lambda \sum_{s=1}^{p} k(t,s)a^{+}(s)f(y_{s}) \leq \lambda \Lambda_{2}(f_{0}+\varepsilon)\rho_{*} \leq \rho_{*} = ||y||,$$

which yields

$$||Ty|| \leq ||y||, for y \in P \cap \partial \Omega_{\rho_*}.$$

Now, we consider two cases.

CASE 1. If $f_{\infty} < \infty$, set $\varepsilon_1 > 0$ such that $0 < \frac{1}{\Lambda_1(f_{\infty} - \varepsilon_1)} \le \lambda$. Since $f_{\infty} = \lim_{u \to \infty} (f(u)/u)$,

there exist $\rho^* > \rho_*$ such that

$$f(u) \ge (f_{\infty} - \varepsilon_1)u, \text{ for } u \ge \mu \rho^*.$$
(10)

Set $\Omega_{\rho^*} = \{ y \in P : || y || < \rho^* \}$. For any $y \in \partial \Omega_{\rho^*} \subset P$, from Lemma (2.2), we have

 $y_t \ge \mu \parallel y \parallel = \mu \rho^*$, for $t \in [bp, \tau]$. As shown in Eq.5.,10., we obtain

$$\|Ty\| = \lambda \max_{t \in [0,n+1]} \left[\sum_{s=1}^{\tau} k(t,s) a^{+}(s) f(y_{s}) + \sum_{s=\tau}^{n} k(t,s) a(s) f(y_{s}) \right]$$

$$\geq \lambda \max_{t \in [0,n+1]} \sum_{s=1}^{\tau} k(t,s) a^{+}(s) f(y_{s}) \geq \lambda \max_{t \in [0,n+1]} \sum_{s=bp}^{\tau} k(t,s) a^{+}(s) f(y_{s})$$

$$\geq \lambda \mu(f_{\infty} - \varepsilon_{1}) \rho^{*} \max_{t \in [0,n+1]} \sum_{s=bp}^{\tau} k(t,s) a^{+}(s) = \lambda \Lambda_{1}(f_{\infty} - \varepsilon_{1}) \rho^{*} \geq \rho^{*} = ||y||, \text{ this is}$$

$$\|Ty\| \geq ||y||, \text{ for } y \in P \cap \partial \Omega_{\alpha^{*}}.$$
(11)

Therefore, as shown in Eq.9.,11. and the Theorem 1.1, it follows that T has a fixed point in $P \cap (\overline{\Omega}_{\rho^*} \setminus \Omega_{\rho_*})$. Hence, from Lemma 2.7, there exists at least one positive solution of the BVP(1), (2).

CASE 2. If $f_{\infty} = \infty$, let $\lambda > 0$, take M > 0 such that $\lambda \Lambda_1 M \ge 1$. Since $\lim_{u \to \infty} (f(u)/u) =$

 ∞ , there exists some ρ^* satisfying $\rho^* > \rho_*$ such that $f(u) \ge Mu, u \ge \mu \rho^*$. Set $\Omega_{\rho^*} = \{y \in P : ||y|| < \rho^*\}$. As before, we get

$$\|Ty\| = \lambda \max_{t \in [0,n+1]} \left[\sum_{s=1}^{\tau} k(t,s) a^{+}(s) f(y_{s}) + \sum_{s=\tau}^{n} k(t,s) a(s) f(y_{s}) \right]$$

$$\geq \lambda \mu M \rho^{*} \max_{t \in [0,n+1]} \sum_{s=bp}^{\tau} k(t,s) a^{+}(s) f(y_{s}) = \lambda \Lambda_{1} M \rho^{*} \geq \rho^{*} = \|y\|, \text{ and the proof proceeds as}$$

before. The proof of Theorem 3.1 is completed.

Theorem 3.2. Assume that conditions $(H_1) \sim (H_4)$ are satisfied, and $\Lambda_2 f_{\infty} < \Lambda_1 f_0$. Then for



all λ satisfying

$$\frac{1}{\Lambda_1 f_0} < \lambda < \frac{1}{\Lambda_2 f_{\infty}},\tag{12}$$

there exists at least one positive solution of the BVP(1), (2), which belongs to P. Moreover, in the case where *f* is sublinear, then as shown in Eq.12. becomes $0 < \lambda < \infty$.

Proof. At first, for $f_0 = \lim_{u \to 0^+} (f(u)/u)$, we consider two cases. **CASE 1.** If $f_0 < \infty$. Set $\varepsilon_1 > 0$ such that $0 < 1/\Lambda_1(f_0 - \varepsilon_1) \le \lambda$, Since $f_0 = \lim(f(u)/u)$, there exists a positive constant ρ_* such that

$$f(u) \ge (f_0 - \varepsilon_1)u, \text{ for } 0 < u < \rho_*.$$

$$(13)$$

Set $\Omega_{\rho_*} = \{ y \in P : || y || < \rho_* \}$. For any $y \in \partial \Omega_{\rho_*} \cap P$, by Lemma 2.2, we get $y_t \ge \mu || y || = \mu \rho^*$, for $t \in [bp, \tau]$, then as shown in Eq.5.,13., we have

$$||Ty|| = \lambda \max_{t \in [0,n+1]} \left[\sum_{s=1}^{\tau} k(t,s)a^{+}(s)f(y_{s}) + \sum_{s=\tau}^{n} k(t,s)a(s)f(y_{s}) \right]$$

$$\geq \lambda \max_{t \in [0,n+1]} \sum_{s=1}^{\tau} k(t,s)a^{+}(s)f(y_{s}) \geq \lambda \max_{t \in [0,n+1]} \sum_{s=bp}^{\tau} k(t,s)a^{+}(s)f(y_{s})$$

$$\geq \lambda \mu(f_{0} - \varepsilon_{1})\rho_{*} \max_{t \in [0,n+1]} \sum_{s=bp}^{\tau} k(t,s)a^{+}(s) = \lambda \Lambda_{1}(f_{0} - \varepsilon_{1})\rho_{*} \geq \rho_{*} = ||y||,$$

this is

 $\|Tu\| \ge \|u\|, \text{ for } y \in P \cap \partial\Omega_{\rho_*}.$ (14)

CASE 2. If $f_0 = \infty$, let $\lambda > 0$, and take M > 0 such that $\lambda \Lambda_1 M \ge 1$. Since $\lim_{u \to 0^+} (f(u)/u) = \infty$, there exists a positive constant ρ_* such that $f(u) \ge Mu$, for $0 < u < \rho_*$. Set $\Omega_{\rho^*} = \{y \in P : ||y|| < \rho^*\}$. As before, we have

$$\|Ty\| = \lambda \max_{t \in [0,n+1]} \left[\sum_{s=1}^{\tau} k(t,s) a^{+}(s) f(y_{s}) + \sum_{s=\tau}^{n} k(t,s) a(s) f(y_{s}) \right]$$

$$\geq \lambda \mu M \rho_{*} \max_{t \in [0,n+1]} \sum_{s=bp}^{\tau} k(t,s) a^{+}(s) f(y_{s}) = \lambda \Lambda_{1} M \rho_{*} \geq \rho_{*} = \|y\|,$$

hence, Eq.14. holds too.

Next, let $\varepsilon > 0$ such that $0 < \lambda \le 1/\Lambda_2(f_\infty + \varepsilon)$. Since $f_\infty = \lim_{u \to \infty} (f(u)/u)$, there exists some ρ satisfying $\rho > \rho_*$ such that

$$f(u) \le (f_{\infty} + \varepsilon)u, \text{ for } u \ge \rho.$$
(15)

Now, there are two cases to consider too. They are *f* is unbounded and bounded. If *f* is unbounded. Since *f* is continuous, we know that there is a positive constant ρ^* and $\rho^* > \rho$ such that

$$f(u) \le f(\rho^*), \text{ for } u \in [0, \rho^*].$$
 (16)

Since $\rho^* > \rho$, then as shown in Eq.15.,16., we obtain

$$f(u) \le f(\rho^*) \le (f_{\infty} + \varepsilon)\rho^*, u \in [0, \rho^*].$$
(17)

For $y \in P$, $||y|| = \rho^*$, from as shown in Eq.4.,17., we have

$$(Ty)_{t} = \lambda \sum_{s=1}^{n} k(t,s)a(s)f(y_{s}) = \lambda \sum_{s=1}^{p} k(t,s)a^{+}(s)f(y_{s}) - \lambda \sum_{s=p}^{n} k(t,s)a^{-}(s)f(y_{s})$$
$$\leq \lambda \sum_{s=1}^{p} k(t,s)a^{+}(s)f(y_{s}) \leq \lambda \Lambda_{2}(f_{\infty} + \varepsilon)\rho^{*} \leq \rho^{*} = ||y||.$$



If *f* is bounded, then there exists a positive constant L_1 such that $f(u) \le L_1$. In the case $f_{\infty} = 0$. Take $\rho^* \ge \max\{L_1/\varepsilon, \rho\}$, for $y \in P$, $||y|| = \rho^*$, as shown in Eq.5, one has

$$(Ty)_{t} = \lambda \sum_{s=1}^{n} k(t,s)a(s)f(y_{s}) = \lambda \sum_{s=1}^{p} k(t,s)a^{+}(s)f(y_{s}) - \lambda \sum_{s=p}^{n} k(t,s)a^{-}(s)f(y_{s})$$
$$\leq \lambda \sum_{s=1}^{p} k(t,s)a^{+}(s)f(y_{s}) \leq \lambda \Lambda_{2}L_{1} \leq \lambda \Lambda_{2}\varepsilon\rho^{*} \leq \rho^{*} = ||y||.$$

Hence, in either case, setting $\Omega_{\rho^*} = \{y \in P : ||y|| < \rho^*\}$, we always have

$$||Ty|| \le ||y||, \text{ for } y \in P \cap \partial\Omega_{\rho^*}.$$
(18)

Therefore, as shown in Eq.14., 18., and Theorem 1.1, it follows that T has a fixed point $P \cap (\overline{\Omega}_{\rho^*} \setminus \Omega_{\rho_*})$. Hence, from Lemma 2.7, there exists at least one positive solution of the BVP (1), (2). The proof of Theorem 3.2 is completed.

Example

In this section, we will give an example is to illustrate our main results. **Example 4.1**. Consider the boundary value problem

$$\begin{cases} \Delta^2 y_{t-1} + \frac{2}{3}a(t)f(y_t) = 0, \ t \in [1,10], \\ y_0 = 0, \qquad \frac{1}{2}y_6 = y_{11}, \end{cases}$$
(19)

where $n = 10, p = 6, b = \frac{1}{2}, \lambda = \frac{2}{3}$, and $a(t) = \begin{cases} 20(t-6)^2, 0 \le t \le 6, \\ \frac{3}{20}(6-t)^3, 6 < t \le 11, \end{cases}$ then we have $bp = 3, \Lambda = \frac{3}{20}$.

Now taking $\tau = 4$, we get $\delta = \frac{1}{2}$. Let

$$y_t = \begin{cases} -(t-5)^2 + 25, & 0 \le t \le 6, \\ \frac{12}{25}(t-11)^2 + 12, 6 < t \le 11, \end{cases} \text{ and } f(u) = \frac{22u^2}{1+2625u} + \frac{2u}{2625}.$$

Then, by calculation, we have

 $f_0 = \frac{2}{2625}, f_\infty = \frac{8}{875}, \Lambda_1 = \frac{825}{4}, \Lambda_2 = \frac{2625}{2}, \text{ thus, we have } 1 = \Lambda_2 f_0 < \Lambda_1 f_\infty = \frac{66}{35}, \text{ and}$ $\frac{66}{35} = \frac{1}{\Lambda_1 f_\infty} < \lambda = \frac{2}{3} < \frac{1}{\Lambda_2 f_0} = 1. \text{ By Theorem 3.1, we have the BVP (19) has at least one positive solution.}$

Summary

Assume that conditions $(H_1) \sim (H_4)$ are satisfied. When $\Lambda_2 f_0 < \Lambda_1 f_\infty$, then for all λ satisfying $\frac{1}{\Lambda_1 f_\infty} < \lambda < \frac{1}{\Lambda_2 f_0}$, there exists at least one positive solution of the BVP(1), (2), which belongs to P. Moreover, in the case where *f* is superlinear, then as shown in Eq.7 becomes $0 < \lambda < \infty$; When $\Lambda_2 f_\infty < \Lambda_1 f_0$, then for all λ satisfying $\frac{1}{\Lambda_1 f_0} < \lambda < \frac{1}{\Lambda_2 f_\infty}$, there exists at least one positive solution of the BVP(1), (2), which belongs to P.



Eq.12. becomes $0 < \lambda < \infty$ are obtained.

Acknowledgements

This work was financially supported by grants 2012BAH20B01, 2014BAK11B02, 2013GXN SFAA 01326 and 2013YB092.

References

[1] D. Anderson, R. Avery and A. Peterson: Three positive solutions to a discrete focal boundary value problem, J.Cimputational and Applied Math.Vol.88(1998)p.103-118.

[2] W. Feng and J.R.L. Webb: Solvability of an m-point boundary value problems with nonlinear growth, J. Math. Anal. Vol.212(1997)p. 467-480.

[3] W. Feng: On an m-point nonlinear boundary value problem, Nonlinear Analysis TMA. Vol.30(6) (1997)5369-5374.

[4] C.P. Gupta: Solvability of a three-point nonlinear boundary value problem for a second order ordinary differential equation, J. Math. Anal.Vol.168(1992)p.540-551.

[5] C.P. Gupta: A sharper condition for the Solvability of a three-point second order boundary value problem, J. Math. Anal. Vol.205(1997)p.579-586.

[6] C.P. Gupta: A generalized multi-point boundary value problem for second order ordinary differential equations, Appl. Math. Computer. Vol.89(1998)p.133-146.

[7] D. Guo: Some fixed point theorems on cone maps, Kexue Tongbao. Vol.29(1984)p.575-578.

[8] J. Henderson: Positive solutions for nonlinear difference equations, Nonlinear Studies. Vol.4(1997)p.29-36.

[9] M.A. Krasnoselskii: Positive solutions of operator equations, Noordhoff, Groningen. (1964).

[10] F. Merdivenci: Two positive solutions of a boundary value problem for difference equations, J. Difference Equations .Vol. 1 (1995)p.263-270.

[11] Q. Sheng and R.P. Agarwal: Existence and uniqueness of the solutions of nonlinear n-point boundary value problems, Nonlinear World. Vol.2(1995)p.69-86.

[12] G. Zhang and R. Medina: Three-point boundary value problems for difference equations, Computers Math. Applic. Vol.48(2004)p.1791-1799.

[13] Johnny Henderson: Rodica Luca, Positive solutions for a system of second-order multi-point boundary value problems, Applied Mathematics and Computation. Vol.219(2012)p.88-98.

[14] Wenguo Shen: Global structure of nodal solutions for a fourth-order two-point boundary value problem, Applied Mathematics and Computation. Vol.219 (2012) p.88-98.